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O cameraq

00 location <0,0,-3> 00 //
D:E look_at <0,0,0> 00O //0
O

/000000

O light_source {

0 0<100,100,-100> OO // O00OO
00 color rgb <1,1,1> 00// O00OO
0%

//00000

O object {

00 sphere {<0 , 0, 0>, 1} 00O// 00000
00 texture {

O pigment { rgb <0 , 1 , 0> }O0O// 0000

00y
\O7

gooooggd
goboogo
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0 2.9: POV-RayOO O o Od

11



22 0O000O0O0O0O0O

googobboogbogbooboobboobboobbogboooobobd
gbgbbdoobbuodbbodobbuodbbodbooooobobooboobbo
gbooboooobon

e 0OUO0ODLUODUDLDDODDLOODLDDLODLOODLDOUODLOODOODODOD

Dbobooboobooboobobobobooboobooboobonn

Dbobooboobooboobobobobooboobooboobonn

gbbobooodgbobbboooobbbooobbbbooobbbuooaobobo

gbhbboodgbobbbooodgbbbuoooobbbooobbboooab

ggboboboooobboboooobbobuooooboboo

12



030 Ui

gbobodbobuodgbboobobbooboobbodobooboboboobobda
gouogbboobuodbooboobuogbbooboobobobobuooboobobod
gbbobooggbbboooobob

3.1 oooood

g3igoggbbugobobuoguogbboobboobbbooobobooobboo
gbobobobbobooboobooboobooboobooboobooboon
gboogbboobuodgboobbooboobbooboobboooboobbod
obooobbgoboboobbooobbooobboobboobbooobboon
gboogbobuboooobuooboboooobboobboooboobobuoobobod
ooboboboboboboboboooboboboboboboobobobobo
gbboboooobbbuooobboboooon

EHBGEHAS DT
AS—ma—F =9

(e

Robot |
Disl: 240[cm]

|| ©1:270[7]
= Robot 2
= Dis2:200[cm]

) - 92:330[°]

0310000000



3.2 0Oooooa

gboboogooboboogobbobuooooboood

obobobbbbboboboootuodgdouoooobbbobobboboobbbbbb
goooooboobobobbbbbbobootboougooooooooooooooon
ccboooooboooooboooooooobooooooobbooooDooooooooo
gbogodgbogobuoobooobuoobbogboobbooboboobonooo
goobobbbbbbbbbbbbbbbbdddodooooooooooooobon
gbobobooooboboooobobon

() 000000000000000000000000000
(i) 00000000000000000000
(i) 00000000

(v) 0000000

00 ()0000000000000000000O00OO0oUoOOOooDUooODOO0O
gbgbbodgbooobuoobbuoobbodoboobbobobooboouoboo
0000000000000 0DO0bOO00b0o0obO0DO0obObOoDOOoboooQROOO
gbobobooooon

QRO—F /N—m—FK
15 Ho pes
= LN | #
<t < ~ L
IEER4pL) 5L

0 32000000QRO0O0

QrRUOOUODOOOOOO0ODOOUODLDOUODOOMObOOoOobDOOoUUDOoOobbOOobboOoo
OOob0oooobooboobooborOobOOOobOoooOobOoooobOoooDOoDn
gboogobouogbbodbbogboouobboobobuoobboobbogbon
gbuodgbbobobuodboobboobobobbooboobbooboobobod
O000000() 00000000000 0D00ooo0000oooooooooooooOd
goobobbbbbbbbbobbbbbboouotbouoddooooooooooood
000000000000 (@o0o0o0000000000ooooooooooo
gbodgbboobodbboooobuoabbobobodoboobbooboobbod

14



0000000 Ib0000000O0O000000D (v)DODODOOOODOOoOoDbDDOOoOOo
OO00O0boobOobOob0ooooooboooobDobUtpixelDOODODODOODO
gbobogdgbboogboogbboobbobuoobbuoougoobiobooboog
OO00o0b00ooboobOobo0oooobooboooobobUpixelDOODODODOOD
gboboboogobbobuoogoobobog33bbon

}._

TEXNSUH RE—hR T X NSIH

o -

U 33 bbuogggbbbouoogoboo

ggooobobbbbbobboobbboobbobbbbbobbooobooooooogo
obobooboboobuooboboboboobobooboobobooboIbg
gbobogobogoboooobboouobbuooboobooooobboobobo
gbbogoboobuoobbuoobbugbbuoouobbogooboooboboobo
gboboooobbobdoooobbboooobbboooobbboooon

gbboboooobbbdug bbbbobobbboooooooooooooooobobba
gbbodggobbbogooboogobboooobbboooobbooooon
gbbbooodgbobboooobbodao

obobooboobo bobbedobOoobOoOobOIDODbOODLDDODDOODOO
gogbbogobbbooobbooobbboooobbbuooobbbood
ggbboboooobbooobbooobbbooobbbuooobbboooob
O00000000006x5x5x4(3000)00000000IDOOOO

15



3.3 Uuooogng

gbboooobbboooobboooobbooooboooobboooob
goobooooobboooobbobooooobooo

obooboooboobgs3400000

( Start )

Y

SN ATHS
FTARER LEIBIA A

PEEt, AE, IDEETE

Y

EEEfE, AE, ID
Z HhA

034000000000

16



gbooood

gbboooobboogobobbuooobbooooboboooobbuooobon
gobogooboboogobbuoodbbboooobobuooobbooobooboog
gbboooobbbooobboodbbbuooobbooobbbuoooboo
gboobo3310000gn

gobobodd

OOooooooooooboboobobobobouo RGBOOOOODOOOOOO
gbboogbbobogobboooobbbooooboboooobobooobon
335000000

gbobobooaon

gbbobooggbbobooooboboooobbobbuooobbboooobn
OOooOobooooogoogoo 336000000

gobooo

OOoboobobo0ooooboobobooboboooboobobbooooeOoDO
obobooboobobooboobobobobobboboboboboobd
gbobobooogbbobuoooobobuooooboobog 332000000

gobooo

gobobooobbbooobbboooobbbooobbboobbbooon
gbboboogbobobogobbooobbbuooobbbooobboooobn
gbobogobbogobbooobbboobobboooboboogs1gonboobooo

17



3.3.1 0O0oognd

21.3000000000000000000000000000000 (28)00000
000000 rpix] 000000000 27rfpix] 0000000 1[pix] 00 2rrpix] O O
00000000000000000000

e

//panoramic extension

RN

for (int g=0; q<pi2r; g++){

0 a = a+(1/radius);

00 cos = (double) Math.cos(a);

O sin = (double) Math.sin(a);

0 for (int p=0; p<(int)(radius-2); p++ ) {
00 if (Math.abs(p * sin) <= (h_center-1)) {

ogo
00O panoramic[p] [q] =
000 image[h_center-Math.round(p+*sin)] [w_center+Math.round(p*cos)];
oooo
OO0} else {
000 panoramic[p][q] = 0;
o0}
&

\

035 00000
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Eizoh Hyper70
ugn 50 [° ]
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oooooooon 0.1 m]O0O
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b goobooooboood
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//000000
camera {

location <0, 0.538, 0> 00O //0000000O
look_at <0, 0.61, 0> 0O0O//00000000
oooooo

/000000000
#declare Mirror =
union

O intersection {

00O quadric {

O0000«<1/(axa),-1/(bxb),1/(axa)>, <0,0,0>, <0,0,0>, 1 O0//00000000
00 texture { F_MetalE }

}
cylinder {

0 <o, 0., 0>,<0, 0.092, 0>, 0.0450 0 //00000O00O0OO0O

00 pigment { color Black }

}

~YOoo Od
[ R e

5, 0>,<0, 0.0451, 0>, 0.0018
pigment { color Black }

O N

oooogn
googooogo
ject {
U Mirror
U translate 0.509%y l//

O~ ~
/(I:IIZIO,\ ooo X
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Version3.6.1(g++ 4.0.1 @ powerpc-apple-drawin8.8.0)javall] Version1.5.0_06 0
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Code Data for Distance Matching
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00 [m] | ADO [pix]
02-1.0 270
20-3.0 o4
3.0-4.0 18
4.0-5.0 9
5.0-6.0 5

6.0 - 7.0 4
7.0-8.0 2
8.0-9.0 1

9.0 - 10.0 1

0000000000000000000000005m|O000 5% 0000000
0000000000000 s5mjO00000 3440000000000 0O0ODOOOO
gbbbuoooobbbooobbboooobbbuoobbon

Error of Distance [%]

35 -
30

25

-+ Error Ave. [%]
Error Max [%]

Error [%]

Distance [m]

gss5: 0000000

32



5.2.3 0O0OOOIDODDOOOO

gboobobooboobobobooboob Ibbooboboboobooboboon
gboogobodgbooobogbbooboobobodbooobuoobbooboo
gbobuoogobood

5.24 UUOOLOOOOOOOODOOO

gobooobbooobboobobbooobobosebgboobbooobboo
oboooboooooboobobooboboboobobooobooboobooroboon
goobdobodbogobuoobbuodbboobooboobooobuoobobod
gbogobobbuodgbboobbuodbgbuobbuoobboobbbboobbo
gboogbbogbuodboboboobobuooboobboobuoobbooboobbo
gooo

Processing Speed

8
1
)
Rel 6 1
[1¥]
5
%)
w4
.E
03
V]
S 2
&y

0

0 5 10 15 20
Number of Robots

gs6:00000gbobodag

33



el OO0

goobobbbbbbbbdodooooooooooobooboobooboboobbbobbon
gboobbogbogbobgboodbbogbboobbuooboguobboooo
0000000000000 0000 (DUUUoL0)oooooo Ibo 30000000
gboogobuobogbogbbodboogbooobooobooobobogoo
gbobbodbbogbuoooboobbuoobboobboobbboobbodabo
gboogboboobuodboobboobogbobooboobbooboobobod
gbogobugbbdodgbbouoobbuoobboobboobooboboooabo
gbobobooggobobooogobbboooobobooooboboooonon
OO000o0ooooobooboon POV-ReyyOOUooooooooooooooboogoo
goobogobuogbbuoobbodobboobobobbuooboboboobood
OsnO0000000D000 £0300000000000000000000000OO0
0000000000000 000000O0000000sm|000000OsSk 00
0000000000000 00000 5m|00000 34[%»] 0000000O0O0OOO
godooogooooobobbbbbbbobobbobobbbbbbobobboood
IDOoOoOogoboOoooooboboogbobooobooooboooobooobooboo
gbobuodgbboobbooobbuoobbooboooboobbuoobboobon
gboboboobobooooboobobboboboboboooobobobob
gboogboogobuodgbbuoobboobooobooboooboboobboobn
gbogbuoobgobgbooboobooboobobbobobooboobon

6.1 U0

OU0D000000000000000D00 Xavier Defago0 DO DO OOOODOOOOO
gogobbbooggobobuoooobbobboooobobboooooboboboooon
gbbuodgbbogbooobuoobbuoobbooboooobobuoobbooboo
gbuogoboogbogoboogbbuoobbuooobooobbuoooboi1oobooa
DOO00000 XavierDODODOOODOODODOODOOODO

34



[]

[1]

[7]

8]

HREEN

gogobbbbbouougoooooobboboobboooooooobb, odgo
000000, Vol. 23, No. 3, 376/382, 2005.

O000,00000000 HyperOmni VisionOOOOOO -0D000000O00OO
oboboobod-, obo0 ooboo99r.

gbbuogbuogo,oggbbuooobbuoobbooobboobbobooobo
o0, 0dgdbobobodoubbobuoooobbidddpp.h78-5790 2002.

goooobbboboobbbo, bbobobobbbbbbbuodoooouooogoo
godd -odoooooououooaoo- bbbbobbbb oooooooooo
3F2200 2003.

0000000000000 000000000000000000000000
00000, 000000000000 Vol.J84-D-Tl No.7, pp.1270-1278 2001.

gggoobbbobboodoooooooobbbbobobobooooooaa, o
gobobobooogboD 0o0boo?2004.

o0 ooO,00 00,00 000000b00obooooboooOobD AROOoog,
0000000000000 0 (MIRU2005)000000pp. 1614-1615, July 2005.

oooobo“c0bobooooobo” obobo2002.

35



HEN
OooooooboobobobooooooboobobooIboboooboooon
oboooboboobooboobooon

//1/1/1/7/7/7/7////////////analyze about color code ///////////////
robotid = new int[7];

robotData = new double[15];

ArrayList robotList = new ArrayList();

///11/7/7///7//////////// look for first xed //////////////////////////
for (int i = 0; i < panoramic.length; i ++ ) {

for (int j = 0; j < panoramic[i].length; j++)

[1717777177777/77777/777 height /////////77777/77/777/777/77/77/7//7/777///7/7/
if (panoramic[i] [j] == 1 && Counter == 0) {

y_0 = 1i;
x_0 = j;
Counter++;
}

if (panoramic[y_0] [x_0] == 1 && Counter > 0) {
int mandeyanen = O;

while ((temp_x+x_0) < (pi2r-1)) {//mandeyanen ==
if ((panoramic[y_O0] [temp_x + x_0] != 1) || (panoramic[y_0] [temp_x + x_0] == 0)) {

mandeyanen++;

break;

+

if (panoramic[y_0] [temp_x + x_0] == 1) {
xCounter++;

}//if

temp_x++;

}//while

+

if (panoramic[y_O] [x_0 + xCounter/2] == 1 &% Counter > 0) {
while ((temp_y+y_0) < radius) {
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if (panoramic[temp_y + y_0] [x_O + (xCounter/2)] == 2 && FirstBlueCounter == 0) {

FirstBlueCounter++;

break;

}
if (panoramic[temp_y + y_0] [x_O + (xCounter/2)] != 2 && FirstBlueCounter == 0) {

yCounterUntillBlue++;
r//if

if (temp_y >= 175 ) {
temp_y = O;
yCounterUntillBlue = 0;
aoganai++;

break;

}

temp_y++;
}//while
}

if (aoganai > 0) {
while (((temp_y+y_0) < radius) || (FirstBlueCounter < 0)) {

if (panoramic[temp_y + y_0] [x_0 + (xCounter/2) + 1] == 2 && FirstBlueCounter
FirstBlueCounter++;

break;

}//if

if (panoramic[temp_y + y_0][x_0 + (xCounter/2) + 1] != 2 && FirstBlueCounter
yCounterUntillBlue++;

Y/ /if

temp_y++;

}//while

}//if
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if (FirstBlueCounter >0) {

while ((temp_yBlue + yCounterUntillBlue + y_0) < radius) {

if (panoramic[temp_yBlue + yCounterUntillBlue + y_0] [x_0 + (xCounter/2)] ==
&% FirstyCounter == 0) {

FirstyCounter++;

break;

}

if (panoramic[temp_yBlue + yCounterUntillBlue + y_0] [x_0 + (xCounter/2)] != 3
&& FirstyCounter == 0) {

yCounterBlue++;
r//if
temp_yBlue++;
}//while

+

if (FirstyCounter > 0) {

while(yCounterStart == 0) {

yCounter = yCounterUntillBlue + yCounterBlue;
length_bottom = (int) (radius - (yCounter + y_0));
yCounterStart++;

break;

}//while

/it

////1/7/7/77/7/7//77///////// width( choose max ver.) ///////////////////////////
if (yCounterStart > 0) {
while(widend == 0){

for (int high = y_0+1; high < y_O+yCounter-1; high++){

/1/717//177/77/7///7/// xCounterRight ////////////////////////7///////7////7//
if (panoramicl[high] [x_0 + xCounter/2] != 0) {

while ((temp_x_right + x_0 + xCounter/2) < (pi2r-1)) {

if (panoramic[high] [temp_x_right + x_0 + xCounter/2] == 0) {

break;

}
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if (panoramic[high] [temp_x_right + x_0 + xCounter/2] != 0) {
xCounterRight++;
/it

temp_x_right++;

}//while
}

//////////// xCounterLeft NOT around O degrees /////////////////////////////
if (x_0 > 0) {

while ((x_0 + xCounter/2) - temp_x_left >= 0) {

if (panoramiclhigh] [(x_0 + xCounter/2) - temp_x_left] == 0) {

break;

}

if (panoramicl[high] [(x_0 + xCounter/2) - temp_x_left] != 0) {
xCounterLeft++;

}//if

if ((x_0 + xCounter/2) - temp_x_left == 1) {
kireteru = x_0;

x_0 = 0;

temp_x_left = 0;

maxofXCL = O;

break;

}

temp_x_left++;
}//while
Y/ /it

///111/117/7//7/7/7///7/////////////%xCounterLeft for around O degree ///////////////////
if (x_0 == 0) { //panoramic[high] [x_0 + xCounter/2] == &&

while (true) {

if (panoramicl[high] [pi2r - temp_x_left -1] == 0) {

break;

}
if (panoramicl[high] [pi2r - temp_x_left -1] !'= 0) {
xCounterLeft++;
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}//if
temp_x_left++;
}//while
/it

codeWidth = xCounterRight + xCounterLeft -1;
maxofXCR (int) Math.max(xCounterRight, maxofXCR) ;
maxofXCL (int) Math.max(xCounterLeft, maxofXCL);
maxofWidth = (int) Math.max(codeWidth, maxofWidth);
temp_x_right = 0;

temp_x_left = 0;
xCounterRight = 0;
xCounterLeft = 0;

}//for Width

x_3
x_4

(x_0 + xCounter/2) - (maxofXCL -1);
x_0 + xCounter/2 + (maxofXCR);

widend++;
break;
}//while
Y//if

//////////// theta for NOT O degrees ////////////////////////////////////
if (widend > 0 && x_0 > 0) {

while(thetaend == 0) {

codeWidthforTheta = (maxofWidth)/2;

theta = ((double) (x_3 + codeWidthforTheta) * (180/(pix*radius)));
thetaend++;

break;

}//while

Y/ /if

///////// theta for O degrees ////////////////////////////////////

if (widend > 0 && x_0 == 0) {

while(thetaend == 0) {

codeWidthforTheta = (maxofXCR + xCounter/2)-((maxofXCL + maxofXCR + xCounter/2)/2);

40



theta = (double) (codeWidthforTheta * (180/(pi*radius)));
thetaend++;

break;

}//while

Y/ /if

/1/1///7////// Robot ID /////////////1/////1/////
if (thetaend > 0) {
while(idend == 0) {
if (y_0 + ID1 == 653) {
break;
}
if(ID1 == 1) {
while(IDlend==0 && irol==0) {
//black
//under
if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai] == 3){
robotid[0] = 2;
IDl1end++;
irol = 3;
break;
/it
//right under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai + 1] == 3){
robotid[0] = 2;
IDlend++;
irol = 3;
break;
}//if
//left under
if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai -1] == 3){
robotid[0] = 2;
IDl1end++;
irol = 3;
break;

}Y//if

//yellow
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//under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai] == 4){
robotid[0] = 3;
IDl1end++;
irol = 4;
break;
/it
//right under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai + 1] == 4){
robotid[0] = 3;
IDlend++;
irol = 4;
break;
r//if
//1left under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai -1] == 4){
robotid[0] = 3;
IDlend++;
irol = 4;
break;

}//if

//green
//under
if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai] == 5){
robotid[0] = 4;
IDlend++;
irol = 5;
break;
¥//if
//right under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai + 1] == 5){
robotid[0] = 4;
ID1end++;
irol = 5;
break;
}//if
//left under
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if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai -1] == 5){
robotid[0] = 4;

ID1end++;

irol = 5;

break;

Y//if

//cyan
//under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai] == 6){
robotid[0] = 5;
IDl1end++;
irol = 6;
break;
}//if
//right under
if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai + 1] == 6){
robotid[0] = 5;
IDl1end++;
irol = 6;
break;
/it
//left under
if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai -1] == 6){
robotid[0] = 5;
IDlend++;
irol = 6;
break;

Y/ /if

//magenta
//under
if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai] == 7){
robotid[0] = 6;
IDl1end++;
irol = 7;
break;

}Y//if
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//right under

if (panoramic[y_O + ID1][x_0 + (xCounter/2) + aoganai + 1] == 7){
robotid[0] = 6;

IDl1end++;

irol = 7;

break;

/it

//left under

if (panoramic[y_0 + ID1][x_0 + (xCounter/2) + aoganai -1] == 7){
robotid[0] = 6;

IDlend++;

irol = 7;

break;

Y//if

ID1++;
}//while
Y/ /if

if(IDlend > 0) {

while (ID2end==0) {

if (y_0 + ID1 + ID2 == 653) {
break;

}

//red
//under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai] == 1 && (irol!=1)){
robotid[1] = 1;
ID2end++;
iro2 = 1;
break;
}//if
//right under
if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai + 1] == 1 && (irol!=1)){
robotid[1] = 1;
ID2end++;
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iro2 = 1;

break;

Y/ /if

//left under

if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai -1] == 1 && (irol!=1)){
robotid[1] = 1;

ID2end++;

iro2 = 1;

break;

Y//if

//black
//under
if (panoramic[y_O + ID1 + ID2][x_0O + (xCounter/2) + aoganai] == 3 && (irol1!=3)){
robotid[1] = 2;
ID2end++;
iro2 = 3;
break;
Y/ /if
//right under
if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai + 1] == 3 && (iro1!=3)){
robotid[1] = 2;
ID2end++;
iro2 = 3;
break;
/it
//left under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai -1] == 3 && (iro1!=3)){
robotid[1] = 2;
ID2end++;
iro2 = 3;
break;

Y/ /if

//yellow

//under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai] == 4 && (irol!=4)){
robotid[1] = 3;
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ID2end++;

iro2 = 4;

break;

/it

//right under

if (panoramic[y_O + ID1 + ID2][x_0O + (xCounter/2) + aoganai + 1] == 4 && (irol!=4)){
robotid[1] = 3;

ID2end++;

iro2 = 4;

break;

r//if

//left under

if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai -1] == 4 && (irol!=4)){
robotid[1] = 3;

ID2end++;

iro2 = 4;

break;

Y/ /if

//green
//under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai] == 5 && (irol!=5)){
robotid[1] = 4;
ID2end++;
iro2 = b;
break;
Y/ /it
//right under
if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai + 1] == 5 && (iro1!=5)){
robotid[1] = 4;
ID2end++;
iro2 = 5;
break;
}//if
//left under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai -1] == 5 && (irol!=5)){
robotid[1] = 4;
ID2end++;
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iro2 = 5;
break;

Y/ /if

//cyan
//under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai] == 6 && (irol!=6)){
robotid[1] = 5;
ID2end++;
iro2 = 6;
break;
/it
//right under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai + 1] == 6 && (irol!=6)){
robotid[1] = 5;
ID2end++;
iro2 = 6;
break;
Y/ /if
//left under
if (panoramic[y_0 + ID1 + ID2][x_0 + (xCounter/2) + aoganai -1] == 6 && (irol!=6)){
robotid[1] = 5;
ID2end++;
iro2 = 6;
break;

Y//if

//magenta
//under
if (panoramic[y_O + ID1 + ID2][x_0 + (xCounter/2) + aoganai] == 7 && (irol!=7)){
robotid[1] = 6;
ID2end++;
iro2 = 7;
break;
Y/ /it
//right under
if (panoramic[y_O + ID1 + ID2][x_O + (xCounter/2) + aoganai + 1] == 7 && (irol!=7)){
robotid[1] = 6;
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ID2end++;

iro2 = 7;

break;

Y/ /if

//left under

if (panoramic[y_O + ID1 + ID2][x_0O + (xCounter/2) + aoganai -1] == 7 && (irol!=7)){
robotid[1] = 6;

ID2end++;

iro2 = 7;

break;

Y/ /if

ID2++;
}//while
Y//if

if (ID2end > 0) {

while (ID3end==0) {
//System.out.println("ID3");

if (y_0 + ID1 + ID2 + ID3 == 653) {
break;

}

//red
//under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&& (iro2!=1)){
robotid[2] = 1;
ID3end++;
iro3 = 1;
break;
Y/ /it
//right under
if (panoramic[y_O + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&&(iro2!=1)){
robotid[2] = 1;
ID3end++;
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iro3 = 1;

break;

Y/ /if

//left under

if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] ==
&&(iro2!=1)){

robotid[2] = 1;

ID3end++;

iro3 = 1;

break;

Y/ /if

//black
//under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&&(iro2!=3)){
robotid[2] = 2;
ID3end++;
iro3 = 3;
break;
Y/ /if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro2!=3)){
robotid[2] = 2;
ID3end++;
iro3 = 3;
break;
}//if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro2!=3)){
robotid[2] = 2;
ID3end++;
iro3 = 3;
break;

Y/ /if
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//yellow
//under
if (panoramic[y_O + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&&(iro2!=4)){
robotid[2] = 3;
ID3end++;
iro3 = 4;
break;
Y/ /if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&&(iro2!=4)){
robotid[2] = 3;
ID3end++;
iro3 = 4;
break;
Y/ /if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] ==
&&(iro2!=4)){
robotid[2] = 3;
ID3end++;
iro3 = 4;
break;

Y/ /if

//green
//under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&& (iro2!=5)){
robotid[2] = 4;
ID3end++;
iro3 = b;
break;
Y/ /it
//right under
if (panoramic[y_O + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&&(iro2!=5)){
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robotid[2] = 4;
ID3end++;

iro3 = b;
break;

Y/ /if

//left under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] == 5
&&(iro2!=5)){
robotid[2] = 4;
ID3end++;

iro3 = 5;
break;

Y/ /if

//cyan
//under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&& (iro2!=6)){
robotid[2] = 5;
ID3end++;
iro3 = 6;
break;
Y/ /it
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro2!'=6)){
robotid[2] = 5;
ID3end++;
iro3 = 6;
break;
}//if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro2!=6)){
robotid[2] = 5;
ID3end++;
iro3 = 6;
break;
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}Y//if

//magenta
//under
if (panoramic[y_O + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai] ==
&& (iro2!=7)){
robotid[2] = 6;
ID3end++;
iro3 = 7;
break;
Y/ /if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro2!=7)){
robotid[2] = 6;
ID3end++;
iro3 = 7;
break;
Y/ /if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro2!=7)){
robotid[2] = 6;
ID3end++;
iro3 = 7;
break;

Y/ /if

ID3++;
}//while
Y//if

if (ID3end > 0) {

while(ID4end ==0) {

if (y_O0 + ID1 + ID2 + ID3 + ID4 == 653) {
break;

}

//red
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//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=1)){
System.out.println("unko");
robotid[3] = 1;
ID4end++;
irod = 1;
break;
r//if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3!=1)){
robotid[3] = 1;
ID4end++;
irod = 1;
break;
Y/ /if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=1)){
robotid[3] = 1;
ID4end++;
irod = 1;
break;

Y/ /if

//black
//under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=3)){
robotid[3] = 2;
ID4end++;
irod4 = 3;
break;
Y/ /it
//right under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3!=3)){
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robotid[3] = 2;
ID4end++;

irod4 = 3;
break;

Y/ /if

//left under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=3)){
robotid[3] = 2;
ID4end++;

irod4 = 3;
break;

Y/ /if

//yellow
//under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=4)){
robotid[3] = 3;
ID4end++;
irod = 4;
break;
Y/ /it
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3'=4)){
robotid[3] = 3;
ID4end++;
irod = 4;
break;
Y/ /it
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=4)){
robotid[3] = 3;
ID4end++;
irod = 4,
break;
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}Y//if

//green
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=5)){
robotid[3] = 4;
ID4end++;
irod4 = 5;
break;
Y/ /if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3!=5)){
robotid[3] = 4;
ID4end++;
iro4 = 5;
break;
Y/ /if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=5)){
robotid[3] = 4;
ID4end++;
iro4 = 5;
break;

Y/ /if

//cyan
//under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=6)){
robotid[3] = 5;
ID4end++;
irod = 6;
break;
Y/ /it
//right under
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if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3!=6)){

robotid[3] = 5;

ID4end++;

irod = 6;

break;

Y/ /if

//left under

if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=6)){

robotid[3] = 5;

ID4end++;

irod4 = 6;

break;

}//if

//magenta
//under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai] ==
&& (iro3!=7)){
robotid[3] = 6;
ID4end++;
irod = 7;
break;
Y/ /it
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai + 1] ==
&& (iro3!=7)){
robotid[3] = 6;
ID4end++;
irod = 7;
break;
Y/ /it
//left under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4][x_0 + (xCounter/2) + aoganai -1] ==
&& (iro3!=7)){
robotid[3] = 6;
ID4end++;
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irod = 7;
break;

Y/ /if

ID4++;
}//while
}//else if

if (ID4end > 0) {
while(ID5end == 0) {
if (y_O + ID1 + ID2 + ID3 + ID4 + ID5== 653) {
break;
}
//red
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai] ==
&& (irod!=1)){
robotid[4] = 0;
ID5end++;
irob = 1;
break;
Y/ /if
//right under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==
&& (irod!=1)){
robotid[4] = 0;
ID5end++;
iro5 = 1;
break;
Y//if
//left under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (irod!=1)){
robotid[4] = 0;
ID5end++;
iro5 = 1;
break;

}Y//if
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//black
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganail==
&& (iro4!=3)){
robotid[4] = 2;
ID5end++;
irob = 3;
break;
r//if
//right under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==3
&& (iro4!=3)){
robotid[4] = 2;
ID5end++;
irob5 = 3;
break;
/it
//1left under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (iro4!=3)){
robotid[4] = 2;
ID5end++;
irob = 3;
break;

Y//if

//yellow
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganail]==
&& (iro4!=4)){
robotid[4] = 3;
ID5end++;
iro5 = 4;
break;
}//if
//right under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==
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&& (irod!=4)){
robotid[4] = 3;
ID5end++;

irob = 4;
break;

Y/ /if

//left under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (irod!=4)){
robotid[4] = 3;
ID5end++;

iro5 = 4;
break;

Y//if

//green
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganail]==
&& (iro4!=5)){
robotid[4] = 4;
IDbend++;
irob = 5;
break;
/it
//right under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==
&& (iro4!=5)){
robotid[4] = 4;
ID5end++;
irob = 5;
break;
}//if
//left under
if (panoramic[y_0 + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (iro4!=5)){
robotid[4] = 4;
ID5end++;
irob = 5;
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break;

Y/ /if

//cyan
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganail==
&& (iro4!=6)){
robotid[4] = 5;
ID5end++;
irob = 6;
break;
/it
//right under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==
&& (iro4!=6)){
robotid[4] = 5;
ID5end++;
irob5 = 6;
break;
r//if
//1left under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (iro4!=6)){
robotid[4] = 5;
ID5end++;
irob = 6;
break;

}Y//if

//magenta
//under
if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganail]==
&& (irod!=7)){
robotid[4] = 6;
ID5end++;
irob = 7;
break;

}Y//if
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//right under

if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai + 1]==
&& (iro4!=7)){

robotid[4] = 6;

ID5end++;

irob = 7;

break;

/it

//left under

if (panoramic[y_O + ID1 + ID2 + ID3 + ID4 + ID5][x_0 + (xCounter/2) + aoganai -1]==
&& (iro4!=7)){

robotid[4] = 6;

ID5end++;

iro5 = 7;

break;

Y/ /if

ID5++;
}//while
}//else if

robotID = robotid[0]*10000 + robotid[1]*1000 + robotid[2]*100 + robotid[3]*10
+ robotid[4];

idend++;
break;
}//while
Y/ /if

///////////// corner point for NOT around O degrees ///////////////////
if (idend > 0 && x_0 > 0){

while(cornerpointend == 0) {

// point a

x_a =1x_3; // - 10

y_a =y_0; //- 10

//point b
x_b = x_3 + maxofWidth; // + 10
y-b =y_a;

61



// point c

x_c =x.3; // - 10

y_c = y_0 + (3*yCounter)/2;
// point d

x_d = x_b;

y-d =y_c;
cornerpointend++;

break;
}//while
Y//if

//////////////// corner point for around O degrees ////////
if (idend > 0 && x_0 == 0){
while(cornerpointend == 0) {

// point a

x_a = pi2r-1 - maxofXCL ;

y-a =y_0;

//point b

x_b = kireteru+maxofXCR+xCounter/2;
y-b = y_a;

// point c

X_C = x_a;

y_c = y_0 + (3xyCounter)/2;

// point d

x_d = x_b;

y-d = y_c;

cornerpointend++;
break;

}//while

Y//if

//1/7///7/7/// Distance //////////77/7/7//777/7777777/771/777/777/7

if (cornerpointend > 0) {
while (distanceend == 0) {
//////////////// Distance matching final versiomn ///////////////////
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// 0.2-0.3
if (y_0 < 224) {
dis_matching_last

Y//if

// 0.3-0.4
if (y_0 >= 224 &&
dis_matching_last

Y/ /if

// 0.4-0.5
if (y_0 >= 280 &&
dis_matching_last

Y//if

// 0.5-0.6
if (y_0 >= 321 &&
dis_matching_last

}//if

// 0.6-0.7
if (y_0 >= 351 &&

dis_matching_ last =

Y//if

// 0.7-0.8
if (y_0 >= 374 &&

dis_matching_last =

Y/ /if

// 0.8-0.9
if (y_0 >= 393 &&
dis_matching_last

}Y//if

// 0.9-1.0

if (y_0 >= 408 && y

dis_matching_last

.0013%y_0

< 280) {

.0018%y_0

< 321) {

.0024%y_0

< 351) {

.0033%y_0

< 374) {

.0043%y_0

< 393) {

.0055%y_0

< 408) {

.0068%y_0

< 420) {

.0084%y_0

.0015;

.1017;

.2834;

.bb18;

.9258;

.3463;

.8867;

.5431;

63



}Y//if

// 1.0-1.1
if (y_0 >= 420 &&

dis_matching_last =

Y//if

// 1.1-1.2
if (y_0 >= 429 &&
dis_matching_last

Y/ /if

// 1.2-1.3
if (y_0 >= 437 &&
dis_matching_last

Y//if

// 1.3-1.4

if (y_0 >= 444 & v

dis_matching_last

}Y//if

// 1.4-1.5
if (y_0 >= 450 &&
dis_matching_ last

Y//if

// 1.5-1.6
if (y_0 >= 455 &&
dis_matching_last

Y/ /if

// 1.6-1.7
if (y_0 >= 460 &&
dis_matching_last

}Y//if

// 1.7-1.8

Il
(@)

= 0.

< 429) {
.0103%y_0 - 3.
< 437) {
L0122y _0 - 4.
< 444) {
.0143%y_0 - 5.
< 450) {
.0162%y_0 - 5.
< 455) {
.0194%y_0 - 7.
< 460) {
.0218%y_0 - 8.
< 464) {
026%y_0 - 10.

3326;

1282;

0496;

9179;

3367;

454,

382;
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if (y_0 >= 464 &&
dis_matching_last

Y/ /if

// 1.8-1.9
if (y_0 >= 467 &&
dis_matching_last

Y//if

// 1.9-2
if (y_0 >= 471 &&

dis_matching_last =

Y/ /if

// 2.0-2.1
if (y_0 >= 474 &%

dis_matching_last =

Y/ /if

// 2.1-2.2
if (y_0 >= 476 &&

dis_matching_last =

Y/ /if

// 2.2-2.3
if (y_0 >= 479 &&
dis_matching_last

}Y//if

// 2.3-2.4
if (y_0 >= 481 &&
dis_matching_last

Y/ /if

// 2.4-2.5
if (y_0 >= 483 &&
dis_matching_last

}Y//if

< 467) {

L0271%y_0

< 471) {

.0317*y_0

< 474) {

.0339%y_0

< 476) {

.0365%y_0

< 479) {

.0442%y_0

< 481) {

.0463%y_0

< 483) {

.0475%y_0

< 485) {

.0514xy_0

10.

13.

14.

15.

18.

19.

20.

22.

017;

082;

319;

965;

998;

555;

416;
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// 2.5-2.6
if (y_0 >= 485 &&
dis_matching_last

Y/ /if

// 2.6-2.7
if (y_0 >= 486 &&
dis_matching_last

Y//if

// 2.7-2.8
if (y_0 >= 488 &&
dis_matching_last

}//if

// 2.8-2.9
if (y_0 >= 489 &&
dis_matching_last

Y/ /if

// 2.9-3.0
if (y_0 >= 491 &&
dis_matching_last

Y/ /if

// 3.0-3.3
if (y_0 >= 492 &&

dis_matching_last =

}Y//if

// 3.3-3.6
if (y_0 >= 495 &&

dis_matching_last =

Y/ /if

// 3.6-4.0
if (y_0 >= 498 &&

y_0

< 486) {

.0594%y_0

< 488) {

.0731%y_0

< 489) {

.0613%y_0

< 491) {

.0826%y_0

< 492) {

.0704%y_0

< 495) {

.0888%y_0

< 498) {

.1091%y_0

< 501) {

26.

32.

27.

37.

31.

40.

50.

309;

981;

226;

67;

659;

725;

809;
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dis_matching_last

Y/ /if

// 4.0-4.3
if (y_0 >= 501 &&

dis_matching_last =

Y/ /if

// 4.3-4.6
if (y_0 >= 503 &&

dis_matching_last =

Y//if

// 4.6-5
if (y_0 >= 505 &&

dis_matching_last =

}//if

// 5.0-5.6
if (y_0 >= 507 &&
dis_matching_last

Y//if

// 5.6-6.2
if (y_0 >= 509 &&
dis_matching_last

Y/ /if

// 6.2-7.1
if (y_0 >= 511 &&
dis_matching_last

}Y//if

// T7.1-8
if (y_0 >= 513 &&
dis_matching_last

Y/ /if

.1328%y_0

< 503) {

.1372%y_0

< 505) {

.2074%y_0

< 507) {

2117xy_0

< 509) {

.2499%y _0

< 511) {

.2991%y_0

< 513) {

.4025%y _0

< 515) {

.5557xy_0

62.

64.

100.

102.

121

146.

199.

278.

619;

807;

22;

41;

.76;

81;

69;

48;
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// 8-8.9

if (y_0 >= 515 && y_0 < 517) {
dis_matching_last = 0.5563*y_0 - 278.74;
/it

// 8.9-9.8

if (y_0 >= 517) {

dis_matching_last = 0.9517*xy_0 - 483.17;
r//if

distanceend++;
break;

}

}

/////71////7///////////7////////// RobotData ///////////////////////
if (distanceend > 0) {

while (robotdataend == 0) {
robotData [0] = robotID;

robotData [1] = theta;

robotData [2] = dis_matching_last;
robotData [3] = yCounter;
robotData [4] = maxofWidth;
robotData [5] = y_0;

robotData [6] = length_bottom;
robotData [7] = x_a;

robotData [8] = x_b;

robotData [9] X_C;

robotData [10] = x_d;

robotData [11] = y_a;
robotData [12] = y_b;
robotData [13] = y_c;
robotData [14] = y_d;
robotdataend++;
break;

}
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////////////////// RovotoList /////////////////////////////
if (robotdataend > 0) {
while (robotlistend == 0) {

robotList.add(robotData) ;
//System.out.println("robotData") ;
robotlistend++;

// exchangepanoramic++;

break;
}
}

/////////// exchange of panoramic[][] data for NOT around O degrees //////////////
if (robotlistend > 0 && x_0 > 0) {

while (exchangepanoramic == 0) {

for (int epi = y_a; epi < y_c; epi ++ ) {
for (int epj = x_a; epj < x_b; epj++)
panoramic[epi] [epj] = O;

3

exchangepanoramic++;
break;

b
+

///////1//7//// exchange of panoramic[][] data for around O degrees ////////////////
if (robotlistend > 0 && x_0 == 0) {
while (exchangepanoramic == 0) {

for (int epir = y_a; epir < y_c; epir ++ ) {

for (int epjr = x_a; epjr < pi2r; epjr++)

panoramic[epir] [epjr] = 0;
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for (int epil = y_b; epil < y_d; epil ++ ) {
0; epjl < x_b; epjl++)
panoramic[epil] [epjl] = 0;

b

for (int epjl

exchangepanoramic++;
break;

+

+

///////7//7/// initialyze parameters ///////////////////////7//1//////

if (exchangepanoramic > 0) {
while (initend == 0) {

dis_matching_last = O;
y_0 = 0;

x_0
X_a
x_b
X_C
x_d
y_a
y_b =
y-¢ =
y-d =

[ e we

. [

I
O O O O O O O o o

-

- [

[

Counter = 0;
xCounter = 0;
temp_x = 0;
FirstBlueCounter = 0;
yCounterUntillBlue = 0;
temp_y = O;
FirstyCounter = O;
yCounterBlue = 0;
temp_yBlue = 0;

o~
o

yCounterStart
length_bottom

Il
(@}
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yCounter = 0;
widend = 0O;
temp_x_right = 0;
xCounterRight = 0;
xCounterRight = 0;
xCounterLeft = O;
temp_x_left = 0;
xCounterLeft = O;
temp_x_left = 0;
codeWidth = 0;
maxofXCR =
maxofXCL =
maxofWidth = O;
thetaend = O;
codeWidthforTheta =
theta 0;

idend 0;

ID1 = 1,

ID1end = 0;

ID2end = 0;

ID2 = 1;

ID3end = O;

ID3 = 1,;

ID4end = O;

ID4 = 1;

ID5end = O;

ID5 = 1,;

ID6end = O;

ID6 = 1,

ID7end = 0;

ID7 = 1,

robotID = 0;

cornerpointend = O;

0;
0;

distanceend = 0;
robotdataend = 0;
robotlistend = O;
exchangepanoramic =
irol = 0;

0;

0;
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iro2

iro3

iro4d

irob

//////7///// print out result //////////////1////777//717///7/7/
double testO[];

test0 = new double[15];

testO0 = (double[]) robotList.get(robotList.size()-1);

System.out.println("//// " + "Robot " + robotList.size() + "//// ");
System.out.println("Color code and Robot data as follows,");

System.out.println("Length = " + (int) (test0[5]));
System.out.println("Height = " + (int) (test0[3]));
System.out.println("Width = " + (int) (test0[4]));
System.out.println("theta = " + testO[1] + " [degrees]");
System.out.println("Robot ID = " + (int) (test0[0]));

System.out.println("Distance = " + testO0[2] + " [m]");
System.out.printin("//////////7//71/777/777//7777777777//7 ");
L1177 7777777777777777777777777777777777777777777777777777777777777777

initend++;
break;
}//while
initend = 0;

}//if

72



